
triggers:  kp21=KB*T.2*(6ct+7ct)*(19ct-BAR)

kp22=kp21*DC*HEX*L1.n

L1.2 has the HEX afterburner -> simulated offline

R(onlBV*BL*EC) = (kp22*presc/pnn*presc)*(KBL(pnn)/KBL(kp22)) =

9790 +- 419 (vs 1981 +- 309 in the kp2 peak)

consistency check:

R(hex+afterburner)=(kp21*presc/kp22*presc)*(KBL(kp22)/KBL(kp21))

CUT kp21 kp22 pnn1or2

KBlive (E11) 6.5034 2.81512 20.1645

prescale 127,787 8,192 1

events rej events rej events (E3) rej CUT

441,085 280,558 11,800

TDCUT (, BAD_RUNS) 67,178 6.57 143,545 1.95 192.5 61.3 KINKS

PSCUT 27,648 2.43 76,677 1.87 35.1 5.48 DELCO6, RECON,

DELCO6, RECON 22,095 1.25 61,696 1.24 ONLINE PV

KINKS 216 102.29 634 97.31 (, BAD_RUNS)

GOOD KINKS 204 1.06 634 1 16.4 2.14 TDCUT

ONLINE HEX 82 2.49 610 1.04 3.8 4.32 PSCUT

HEX AFTERBURNER 65 1.26 600 1.02

direct kp21 & kp22 kp2 peak

3.138 +- 0.32 2.178 +- 0.18 2.981 +- 0.043

1.11 +- 0.006

3.309 +- 0.051


